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ACCOUNTING FOR MANAGERIAL DECISIONS
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Note : Attempt five questions in all, including Question No. 1
which is compulsory.
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Compulsory Question

(erfrard wew)

What are the limitations of uniform costing ?
Discuss the features of Life-cycle costing.

Explain the reporting needs at different levels of
Management.

State the nature of Management accounting.

What is Transfer pricing and how is it determined ?

‘Explain the advantages of Zero Base Budgeting.

What is Cost-volume-profit analysis ?
Explain the limitations of Ratio analysis.
Is depreciation a source of fund ? Justify your answer.

Give managerial uses of Cash flow statement.
(10x4=40)
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Explain the tools and techniques used in Management
Accounting. 10
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“The objective of responsibility accounting is not to place
blame. Instead it is to evaluate performance and provide
feedback so that future operations can be improved.”
Discuss. 10
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A.

Explain the possible causes for material price variance
and material wage variance in standard costing. What are
the remedial measures ? 10
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Explain why it is necessary these days to account for price
level changes. Also explain monetary and non-monetary
items while accounting for price level changes. 10
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Auto Parts Ltd. has an annual production of 90,000 units
for a motor component. The component’s cost structure is
as given below :

Rs. per unit
Materials _ 270
Labour (25% fixed) 180
Expenses :
Variable : 90
Fixed : 135
Total 675

(a) The Purchase Manager has an offer from a supplier
who is willing to supply the component at Rs. 540.
Should the component be purchased and production
stopped ?

(b) Assume the resources now used for this component’s
manufacture are to be used to produce another new
product for which the selling price is Rs. 485.
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In the latter case material price will be Rs. 200 per unit. .

90,000 units of this product can be produced, at the same

cost basis as above for labour and expenses. Discuss whether .

it would be advisable to divert the resources to manufacture
that new product, on the footing that the component
presently being produced would, instead of being produced,
be purchased from the market. 10
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Q.

Following are the ratios of the trading activities of

 National Traders Ltd. :

Debtor’s velocity 3 months
Stock velocity 8 months
Creditors’ velocity 2 months

Gross profit ratio 25 percent
Gross Profit for the year ended 31st December, 2003 amounts
to Rs. 4,00,000. Closing stock of the year is Rs. 10,000
above the opening stock. Bills receivable amount to
Rs. 25,000 and Bills payable to Rs. 10,000.
Find out
(a) Sales, ;
(b) Sundry debtors,
(c) Closing stock, and :
(d) Sundry creditors. 10
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in a factory are furnished below : R
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Materials 70.0 7€ T ST 7R Seaes @ weft T W R 2 feR
Labour 25.0 = B

Variable overheads 20.0

Fixed overheads (Rs. 1,00,000) 10.0

Variable expenses (Direct) 50

Selling expenses (10% fixed) 13.0

Distribution expenses (20% fixed) 7.0

Administration expenses (Rs. 50,000) 30

Total Cost per unit 155.0

Prepare a budget for production of (a) 8,000 units,
(b) 6,000 units, and (c) indicate cost per unit at both the _
levels. Assume that the administration expenses are fixed ,

for all levels of production. 10
T FREM H 10,000 THEA B SEORT § =R $ A
= ™ 2
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A " 70:0

o9 25.0

R @4 20,0

feer @9 (100000 %) 10.0

AR =T (Tee) 50

fomt =1 (10% ) 13.0

oo =13 (20% o) 7.0

WA =T (50,000 T.) 5.0 ; -
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